2A5 2A5

E‘:.\ B
PENTHODE
FB SB
Va(max) = 375 375 V.
Vg2 = 250 250 V.
Vel = —26 — V.
Rk = - 340 3)
la == 34 54 mA.
Ig2 = 5 8 mA.
Ra == 10.000 10.000 Q
d 9% = 5 5
Wo = 19 19
TRIODE
FB SB
Va(max) = 350 350 V.
Vgl e —38 —
Rk = — 730 Q
la = 45 50 mA.
Ra = 6.000 10.000 QO
d % = 7 7
Wo = 18 14

Andere krommen, zie « 42 »
Autres courbes, voir « 42 »
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2A6 2A6

DUODIODE - TRIODE
(d DET - LFy)

Vi = 2,5 V.
lf — 0,8 A'
Va(max) = 250 V.
Vg = -2 V.
la = 0,8 A,
g = 100
Ri = 91.000 Q
S = 1 mA/V.
Rk = 2.600 / 17.400 0
Cag = 1,7 upF.
G = 1.7 wuF
Co = 3.8 i
2‘1 “'.h/ ) 7, . Veras Vot Vesrsooss
\/\ A AW r/ )
/«\ \\) \\,'% /'7
[‘\ \/ % AN /
JTAVANYEAV ﬂ/?
/:gyL 44 K- /~{< / // Vi

— 237 —




